o}al4] 5

>~

xy — yx2 + 2x3 + 2yz2 of] Tt A

ot A T A %

1k

@ x9] A= 5yoltt.

rlo

7/_\]

29

@ x* o] AlE —yolH
® xol gt 3240l
@ xoll AT GFRE 22 ol
©)y. zof dz 244015k,

y, 2ol B 334l




o
=

o A P, Qo s P+ QE AlYSHE, & 7= (9)

X,
Holat, Alo] 2 (O) ol @, ©°f do2 =

e = Mzt

P = 5x%y + 2y? + 2x°
Q = x* - 3y? + 2xy?

>
>
> dEE 94
>

dE2. 09

719 A elstH
= 3x3 + 5x2y + 2xy? — y?
= 470011 A T2 90|t




U A A, Bl Histe] A - BE F51H?

A =2y? + x*> = 3xy, B=—4x% - 2xy + 5y

@® 5x% - 2xy + 3y? (@)5x2 — xy — 3y?
@ 5x% + xy + 3y @ 5x% + 2xy — 3y?

® 5x% + 3xy +3y?

B

SRI7E At £

A—B = (2y? + x? - 3xy) — (—4x% - 2xy + 5y?)
= 5x% — xy — 3y?




D) 72a7 x® @ 724" x8 ® 72a"2x!2

(2ax?)3 x (—=3a®x)? = 8a3x5 x 9a’x? = 724" x8




X2 +2y%) = 2(y? - 3x?%) = 7x?

(

(

(x +y)% = x% + 3x%y + 3xy? +?
(x+y+2)2 =x2+y*>+ 22+ 2xy + 2yz7 + 2zx
(

Brl)s(x+1)=x2-x+1

© 4x-2)+(7-2x)=2x+5




6. THHA (62 4 26— 8)(342 + x + k) ) AAAA QRG] A% 15
o o, A4 ko] ghe?




t}2 19 9] A2H AGHE, AH2H3 EFCD = E

A2k @el i, AD = a, AB = b A, A2}

GBFH 9] §o]=? G H
B—

@ a? - 2ab - b? @ a® + 3b% - 2ab

@—a2 + 3ab — 2b> @ —a®+ 3ab - b?

® —a® + 2ab - b?

O0GBFH = oABCD - 0AGHE - oEFCD
=ab - (a - b)? = b*> = ab — (a® — 2ab + b?) - b?
= —a® + 3ab - 2b?




8. (a+b-c)la-b+c)E H7lotA?

D a? +b% -2 -2bc
@ a?+b%-c%+2ab

® a®-b?-c?-2ab

@ a®-b%>+ % -2bc
@(ZQ—bz—C2+2bC

B

at+b-c)la-b+c)
={a+(b-c){fa—(b-c)}
=a?-(b-c)?

=a?-b% -2+ 2bc




9.

(10° +2)7 ] 7 Aol o] 5:749] L Fopoiel,

D 15 @18 ® 21 @ 26 ® 28

&8

FAE A7NsHA

1015 + 2% + 3 x 2 x 10°(10° + 2)

=10 +23 4+ 6x 100 + 12 x 10°
=10+ 100 x 6+ 10°x 12+ 8
“1+6+1+2+8=18




2005° +1 1o o
10- Sooswao0a 1 ) ke Tetelet.

> E

> ®eh: 2006




